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g5z K % ouT IN GR HDCP NET =

B |l EE 44 47 91 19.0 12.0

#B TH ®BI 50 51 101 29.0 72.0
3 |HR #ME 4 43 84 10.0 74.0
4 |fRE Mt 38 38 16 1.0 75.0
5 |@EF MR 42 40 82 1.0 75.0
6 |AER FE 47 44 91 14.0 71.0
7 |ATE % 45 38 83 5.0 18.0
8 |TH #aME 43 42 85 5.0 80.0
9 |ER X¥ 49 4 90 10.0 80.0
10 |[fE4<K #ER] 51 50 101 21.0 80.0
1 |Bi FEA 48 39 87 5.0 82.0
12 |#E —8 40 48 88 6.0 82.0
13 |AHE X 47 45 92 10.0 82.0
14 R X 45 49 94 12.0 82.0
15 |Bf BEH 49 47 96 13.0 83.0
16 |F¥H FEF 48 49 97 14.0 83.0
17 BT Ez 48 46 94 10.0 84.0
18 | &= 48 44 92 6.0 86.0
19 |BBE X 51 50 101 14.0 87.0
20 |ME R= 51 44 95 1.0 88.0
21 lLE =RE 45 54 99 11.0 88.0
22 |&FE RH 48 51 99 10.0 89.0
23 |BH B2 54 47 101 12.0 89.0
24 |®mF 1#17 56 46 102 13.0 89.0
25 |EH =& 58 56 114 16.0 98.0
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g5z K % ouT IN GR HDCP NET =
B |[EAK %X 43 46 89 19.0 70.0
#E FX F 36 40 16 4.0 72.0
3 |A &S 47 46 93 20.0 73.0
4 @I BN 44 49 93 18.0 75.0
5 [FH A= 39 44 83 6.0 11.0
6 |REE A 48 52 100 23.0 77.0
1 |XK&E =B 42 42 84 6.0 78.0
8 | KE HE 43 42 85 1.0 78.0
9 |ERK =E=F 42 45 87 9.0 78.0
10 | KB AR 43 47 90 10.0 80.0
M R R¥F 53 44 97 17.0 80.0
12 R Flz 42 39 81 0.0 81.0
13 Ml EA 49 44 93 11.0 82.0
14 #&#F FE 52 43 95 13.0 82.0
15 |ET B 46 42 88 5.0 83.0
16 |5 & 51 41 92 9.0 83.0
17 |KE Tt 44 48 92 9.0 83.0
18 |HH —8B 42 47 89 5.0 84.0
19 @i =5 57 53 110 25.0 85.0
20 |HAF f— 57 53 110 21.0 89.0
GUEST |#B)Il E—ER 54 50 104
ERR WF 59 52 111
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